h
‘

(=)

9.

- =
: m&ﬁlcn‘ L. uﬁﬁﬁ%ﬂmﬁﬁﬁ;wma}iﬁ
L 1f3timcsauumbﬁf - 5 ", 60 AW® B, o 9% e oy 27 °
what is the number? 8)35 (A) 25 (B)35
ViR D) 60 04 (D) 60
2. S\\-"}ﬁch smallest number m_UStt:’cu:f:fd L 2. ?g:m%g %T ?ﬂfﬁ g}?{ﬁq W St s fr
2203 so that we get a(ggfcc o (A) 1 | (B)3
) D)8 ©6 (D)8
3 \lf(rhe maximum number of students among 3. El A -afw T R 97 |
~ whom 1001 pens and 910 pencils can be 1001 F’q Sl 910 ‘ﬁﬁ%l?-h al N wE ﬁ-ﬂ
distributed in such a way that each student GRS 5_“'&‘4 5707 IR T F Fer
gets same number of pens and same number of Tl SRR S 7 R e 2 2|
pencils, is: (A)91 © (B)910
LAY ' (B) 910 (C) 1001 (D) 1011
(©) 1001 D) 1911 |
If T'would have purchased 11 articles for Rs, 4, AR A 10 v F 14 QU WAL Tor I 11
10 and sold all the articles at the rate of 10 for TR H 0 TR A R WD Ay i, ¥
Rs. 11, the profit percent would have been: AR W ST 5y -
(A) 10% ®) 11% (A) 10% (B) 11%
21% (D) 100% ©)21% (D) 100% ~
_If the difference between the compound 5. R R aRRT | 5% aiffe ew 3 a§f @
mtcrest_and simple interest on a sum at 5% TR AR whgley it o o= . 3660 |
rate of interest per annurp for three years is Rs. B, eeRifir § “
32.6&, then the sum is- (A) %. 8000 (B) =. 8400
(4) Rs. 8000 (B) Rs. 8400 (©)®. 4400 (D) %. 4800
(ORs.4400 gy agog
he r2io of two numbers is 10:7 and theis 6. AT WeArsl P rua-10 1 7 ¥ AR T IR |
\;‘ggencc 15 105. The sum of these numbers is 105 & T WEIRE TR AT T @Y
it 595 (B) 805 . (A) 595 (B) 805
(C) 1199 (D) 1619 (C)1190 - (D) 1610
A 220 complete g piece of work in 10 days, B | 7. A v wm =y 10 R2=F %, B 15 Ref & 5o C
;103IihdaysaﬂdCiDZOdays,Aandeorked 20 R ¥ Fx W 1 A 9K C ¥.7% W 2
bge erfortwndaysandthenAwasreplaocd Al aF wm o 96D §w A B GE B
¥ B. In how many days, altogether, work was BT F 0| g S e Rt & gm?
Completed? , ‘ (A) 12 R .B)1orm .
(A) 12 days (B) 10 days (C) 6 R D) 8 R
©) G_daYS P8 days ’ &
A train 180 long moving at the speed 0f 20 | §. T 180 #. TN Y. 20 ﬁ/iﬁﬁ m?;
m/ sec Over takes a man moving at a speed of e B e R+ 10 ’Eé;m ﬁ::{gﬁ,
10m/sec in the same direction. The train e B Gl ol o .
. :ﬁzﬁvg
Passes the man ip - (A) 6 TFvE (B) o il
(A) 6 sec ®) 9 sec (C) 18 ¥ o
L1 18 sec (D) 27 sec _ ' Frerit
There are 30 students in a class. The average | 9. T® &l A 20 Pl B W O

) (C) 12.8 years

age of first 10 students is 12.5 years. The
average age of the remaining 20 students is
13.1 years. The average age (in years) of the
Students of the whole class is:
(A) 12.5 years

%&‘ﬁ?@ed fro
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3y w1 S 125 af ¥ 3mr 20 frenfef A

arrg @ 3 134 af ) wl @ A
7 s T e
(A) 125 T (B) 127 @




e e

B

.

- A solid metallic-cone of height 10¢m, radius 10, @ 10 . HEE 9 20 e &
- of base 20 cm is melted to make spherical qER @ TH D4 HAT azns{ aﬁf‘f el )
. balls each of 4 cn diamefer. How many such oRafid & T gm e H T Ty 13
balls can be made? o wl L
(A) 25 balls (B) 75 balls (A) 25 T (B)75 7% \
(C)50balls  ~AP) 125 balls (C) 50 (D) 125 :
|. RedJungle Fowl is found in which place of | 11. Tﬁaﬁﬁaﬂ i g @ fra W W ‘ \
Haryana B! :
(A) Karnal (B) Panipat (A) T . (B) G |
.. (€) Ambala- .\‘/(»D')_I-’.anchkula TPy .. (C)omarEm (D) GerdeT \
7 Where is Nar Narayan Cave located? 12, =R ARE TP Far ford &7 |
(A) Hisar (B) Sirsa (A) BER (B) ferell n
(C) Rohtak amunanagar (C) e (D)
13. Who was the first Haryanvi novel writer? 13. wA ZRaTr T AED o o7
&J*Rajaram Shastri (B) Dhanik Lal Mandal (A) TR ot (B)ufe & Hed
(C) R.S. Narula (D) None of these () argE. e (D) g A T T
14, First cyber police station of Haryana was 14. gﬁ%ﬂ“ﬂ %ﬁw?ﬂ‘iﬁé? gferd & we!
established in? ® gl
(A) Panchkula (B) Ambala (A) TdEeT (B) aratell
(CyGurugram (D) Karnal | (SR (D) Eﬁi.';ﬂ'ﬂ{
15. Where is the biggest onimal busbandry farm i 15- R @1 T qeparert T ERACT A
of asia situated at Haryana? h e ford 7
(A) Ambala - (B) Bhiwani - (A) el (B) Prart
- (©xHisar (D) Rohtak () few (D) AT
{6. Which is the main megazine of Haryana 16. m ;ﬂf??:?“ T %1 A |
Sahit a Academy? P @ | |
(A) Pfam Vani (B) Saral Sarita (i) ™ Eﬂ"'ﬁ (B) ¥ il
| (& Harigandna (D) Devprayag (C) =R ) e
17. IMBEX 2018-19 Military exercise was heldat | 17 IMBEX 2018;19 = g e ®@IT W
which place? : o L °T ¢ o,
(A) Rewar () Bhondsi (A) ! (3)
-CyChandimandir (D) Ambala ©; i W('ET) el e
18, Largest Cauccr'l:gtit;.;tc was inaugrated DY 16. j’j—?:nﬁ ot :41 ?ﬁﬁﬂﬁ :
pM Narendra MOSL 20 o o (A) R (B) TR
(A) Hiser Thajjar . |
~\ Bhiwan (D) Sonipat © fyart (D) wir
(EPEIAC DISRR ot (1 ) e g e @ o T
19. ;llzter Paxéct;i;’pcned.m which ctty e T &7
B ' (A) TEIT (®)
ﬁﬁf‘g‘am & Ifqmal —_— (C) TR (D) T B T
(C) Panipat ( ) None 0 5 - : - < e ol Rer
20. Dhosi hills of Aravali Range 1S located 1D* S
arnaul (B) ]i\gz:ﬁt (A) e (B)
(C)Palwal @) (C) T o [D_ﬁ)-_};_
| ' 2 § | |arel Gl
| 21. Inthe following questions, select the related | 21 m R Lt
li word from the given alternatives: 9 ; Hig o B ?
: Lion: Den': . Rabbit = 7 (A) 5% (B) T
{D),Trench

i
1

(\(}}'Burrow
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. P Suresh mﬁoduces a man as “He is the son of

the woman who is the mother of the husband
of my mother”. How is Suresh related to th

man? 0 4 '
(A) Uncle -son
(C) Cousin (D) Grandson

23. If" + " stands for ‘subtraction’ and " < "
stands for ‘addition’ and " — " stands for
‘multiplication’.and " X " stands for division,
then which of the following equations is
correct?

(A)S6+12x34—12 = 102
8+44 -5 425 = 203

©) 112 %44 — 12 + 10 = 4¢
D)9+64—-2x6=54

24. In the following questi

isdiﬁeremﬁognother'

BT

(C)5x45

three alternatives.

(B) 15 x 15

M)25x9

i 25. Siddarth and Mural; go for jogging from the
same point. Siddarth 20€s towards the east

covering 4 km. Murali proceeds towards the

Siddarth and Murai?
(A) 14 km (B) 6 km
©%km | ®B7im
Find the missing number,
44,56,69,837 , 314
(A) 90 ' 8

(©) 100 Dy110
‘27, If“UNIVERSITY’ js coded as 1273948

756,
how can ‘TRUSTY"” pe written in that code?

(A) 542856 (B) 531855

\(9,&4’1856 (D) 54195¢

26.

Downloaded from www.cclchapter.com

on, select the one which

23.

235,

26.

27.

y (A)56+12x34—-12=102

IR VS arefl 1 aRew g w9 § vy £ aw
TN BT @ o W D oy o
%I'WWWM#WW%

(A) arn

B @
(©)

(D) =

uﬁ‘+’mm§ﬂtmf5’rah;\r"+'mrwiﬁﬁ'§m

aaﬂ?'-’w:mfmmsﬁam'x’mw

Whﬁa}ﬁwmamﬂ%mh
T w87

(B)8 +44 — 54 25 — 203
(©)112x 44 — 12 + 10 = 4¢
D)9+64-2x6=54g
ﬁﬁmww¢wcﬂeaﬁ@q

S Y

w*mﬁm(@m#ﬁa
B ’ '

(A)55 x 5 (B) 15 x 15
(C)5'x 45 (D)25x9
Maﬁhmwﬁrﬁwmﬁw%m
ﬁmﬁ;ﬁa.ﬁqﬁaﬁammmmwu
mwamamww

=1 2t ¥ e e s
44,56,69,837,114
(A) 90

(B)9g
(C) 100 - (D)y110
ARUNIVERSITY’

B Ay ¥
1273'9437581}'.*\@?:[]?,?&3311@%-#

‘TRUSTY’ &y forg TR forar syenp
(A) 542856

(B) 531856
(C) 541856

(D) 541956
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28, Inthe fél lowing question four statements are
given followed by four conclusions I, [T, I
and IV. You have to consic_lcr the statements to

be true even if they seem to be at variance
from commonly known facts. You have to

decide which of the given conclusions, if any,

follow from the given statements.

Statements
1. All metals are silver. "
2. Al silver are disimond i bk
3. Some diamonds are gold 3. 78 drm gl
4. Some gold are marbles 4. 75 A e 2
Conclusi_bhs - P
(@) Some gold.are métals L o Jrm gy ¥
(1) All metals are diamong 1L o et & #)
() Some silverare marble ML g5 i stmren &
(V) Some o1d are sifyer IV. s < ot 8
(&) Quly conelusionT follows () P Faed | P 2
\_B¥Ouly conclusion II follows (B) oer vt I e i
(C) Only conclusion [ follows ©)F73 freng T Frerem #
() Only conclusion IV foliovys, D) Pt Frend 1V frever
9, I.\}arow of girls, Kaml is g Tom the left and | 20, refirat o v LA B A 3y W o
Venna is | 6% from the right. If they ' %mhwi’»ﬁi%w‘ﬁiuﬁéﬁﬁ#
i;st:rghang; thlci;p;si_t_ions, Kamla becomes m?sﬁmgqﬁ A, o T TG
‘om the left. How- - Sirls are. ; | 91T % o5 i
ey TR | e " 4100 1 o ey
(A)34 B)36 '
.\941'\ O 4

30. Find the missing number from the given
TeSponses in each of the follo

WiDg question,
R AD
ARG
()Y .
> tc -
ey. {
ly k (A) 11 (B) 25
[ the ©) 10 27
;ng::' 31. Inthe following ciumﬁons, select the related . | 3 1.
et word from the gi

| ven alternatives.
emple |

30.

Stud) : Knowledge : : Work : 2 TR ? i
= (A) Experiment  (B) Seryice (A) wam (B) =rwd i
1en are \ ‘\(C),E(perience (D) Appointment (C) spmy (D) s f
MEN an i :
ly I'foli,
dy I folle
sither I nor .
oth 1 and 1 follows

DownIJ)adéB)H‘B‘Fﬁ %wwﬁmmfﬁéﬁteibm_




o o
- . ;- -
- - e o=
3¢ P J crsaomarme . ..

T

s 32, TF AT I0N ¢ 3 Rare IR wrdr
_/————'_

- — arry with his . gaa%mfmalm?ﬂ_l? .
m:mkchisdﬂﬂgh‘“m,mwcaﬂﬂmm mﬁaﬂﬁm/gmg
e (8) Brother — (©) T - _ﬁm) il
i A o 33. aR S B fr By 'Y ey
2o !ddi‘i""’"-"-for " " man?'x'ﬁmﬁqasta‘fﬁ'?famaﬁﬁm
B liation, * s - for subtraction:and " x 1 e o 20
mulﬁplimtlc’::hj; one of the following p. £ .
for division, .

'onismg? i
(A)5-2412x6+2=27

X -.-z=27
S - OS2~ 124 Gxzara -
B iri-tiagianeld (IS + 2~ 1% bk 10
ﬁ+§;}zxﬁ~2=3 g er)5'+2;12x6-2s3
+2+4! =i ; _ %Wmﬁwmaﬁiﬁm
- qmon,selectﬁle.mcwhmh 34 | A
34, ngmm;m en ves. :‘rﬁ?mmﬁvr*mﬁwm%mha
(A) 24 — 47 (B_ pe (A)24 — 47 (B)38 - 61
NOTA-98 (D)4~ "Q7-9g. ST 77
35, memy-houselwaikedskmtowa:ﬂsNorﬂz_ 35. 7 I WY vew oy 5 Roerie war | 4
; Itumedﬁghtandwalked-Bkm_AMIwm o T AR 3T AR 3 ey el ey
onchntothesouth_HowﬁaramIﬁtmmy TR A ﬁﬂ‘r'ﬂa'rm#mw%
(A)7Tkm ®B) 6 km | (A) 7 ey (B) & fanit
RN ¢ D 1o ©ama 5 5 R
36. Find the missing number. 36. f—?wﬂvhﬁ‘@a e od
D255, 5306,?, 5408, 5459 5255, 5306, ?,5408, 5459
(A) 5057 (B) 5357 . (A)5057 (B) 5357
(C) 2257 ~ (D)s157 (C) 2257 D) 5157 ;..
37. ]ncodclﬂnguagenfwhltemcansblack,black 37. 8 3= amyr XA BT ek By @ ‘
; 18 yellow. Yellow ig blue, blue js red, and red I BT 39 dreyy 3 G 1 anf Hrer &
mgreen,then-whatisthecolomufblood? ?ﬂmfamasmmaw B 8 oy
(A) Yellow Blua T R T @ :
(C) Red - (D) Green (A) drar (B) ey . . {
) ) ©) s D) =
38, Ir}ﬂle_foﬂomgquesnon,twostatemem;m 38. ﬁ%ﬁamm#ﬁmﬁmﬁ&
- given followcd‘by ﬁvg_conclusions land 1. g
Youlaavetocqnsi :

| 39 W gy
T A SRR BN w A T Tt ) Y
evenli‘they,seemtobeatvananeeﬁ'om mmﬁﬁl*ﬁﬂ.ﬂﬁ;ﬁvw
Commonly known facts. You have tq decide Pt % 3 E‘Fr—a?r @ Ry ™
Which of the given conclusions, any, follow. et ¥ Freem 21 i
from the gjyen: statements, ; S— _
Statements (1) T S Ao 7y
(I)Aumenamemgloyed @)aﬁg,#ﬁﬂmmwm -
(2) No employees are Professiona)y - frepe - : i
Conclusions ' Lﬁgﬁm?ﬂﬁm{?ﬁzl
No men are unemployed _ I &% 4 sy AT 78 2|
II. No men are Professionals W P P 1 Praserar gl
(A) Only I'follows - B FEw Frend 10 Praserer 2 :
oly I follows - S T Pt I sk o g et IT Proerm
(C)Neither [nor 1 fojrgpyg . | &
- (D) Both 1 and I follows
) _

. , & e
¥ & Froad 81
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39, :’1 P, R: X, $ and Z are sitting in a row. S and
Z are in the centre and A and P are at the ends.
R is sitting on the left of A. Then who is on

the right of P?
NABTX

(A)A
(OB (D)Z
Find the missing number from

! the given
responses in cach of the following question.

40.

become Flying
from which district

\z@'f Palwa]

(D) Panipath

i beceis

Downloaded from www.cclchapter.com

45,

RN B BT R @ ey e
mmmzozo‘ﬁwﬁnfﬁmﬁ?
(A) =reR o @ex

(B) afrer fasr
(C) farvor &y
46. %m:ﬁgwﬁmﬁmﬂ
) € R @ few R A €7
(A) wE==mg (B) werac
(C) araren (D) gt
e




47. In which village of Bhiwani district have the
remains of 5000 years old Harappan
civilization been found?

igdana village (B) Miran village
(C) Sippar village (D) Gujrani village
48. How much budget was presented in the
Haryana Vidhan Sabba for thc ﬁnanc:alfyear
2020-217?
(A) Rs 136743.26 crore
'142343.78 crore
(C) Rs 157843.90 crore.
(D) Rs 132343.09 crore

49. Inwhich mty of Haryana:was the 38th All
India Police Equestrian C@mpenufcm

orgamzcd‘?
1 \}Pﬂ' "Bhondsi EB?j’”-Pii'njbre
(D) Surajkund

\ (C) Pehowa
| 50. Inwhich of the following district of Haryana,

Vidhan Sabha Speaker Giyan Chand has
launched the Atal stan Mazdoor Canteen in

. e

- the year 20207 |
|(A)Ksithal  w_(BfPanchkula
(C) Sirsa _(DD) Paiwal
'51. Which ene of the following i3 not a function
of the liver?
. (A) Regulation of blood sugar
(B) Enzyme activation
(C)'Dctoxiﬁcaﬁon' :
eproduction
5Z. Pmtemaremadeup o) -
(A) Sugars o acids
- (C) Fatty acids (D) Nuclelc acids
53. Which vitamin is necdﬁd to prevent Xero-
; phthalmia?
LKA B)B
() C (D)D _
54. Hepatitis is a general term for a disease that 15
caused by:
AT Viruses (B) Bacteria
(C) Parasites (D) All the above

149.

Ny

47. Mﬁlﬂ*ﬁmmﬁmmw

mﬂmﬁmmﬁ
 (A) Rt iR (B)ﬂmm
(C) Ry i (D) T i

ﬁiﬂﬂ#mzl}—-ﬁ & Ry eRaron Rerren 4
T awe Yo R T

(A) 13674326 HUS TUA
(B) 14234378 TR 9
(C) 15784390 TG TUd
(D) 13284309 TS TA

48.

eRar- R Tew ¥ ‘38 & Giﬁﬁ R

yfere oAl R BT S [
e :
(A) s @) e
© e (D) Toge
'-5o,gﬁaw$ﬁ=aﬁfmfd#ﬂmﬁrs‘fﬁ
RUTTRTAT SEAE S WS T a9 2020 W TS
T HoTgy S ST FARA 4T &7
(A) due (B) w=&H
(C) = (D) verde
“lsq., mﬁtﬁqﬂﬁﬁaﬁﬁ—wwmmmwﬁ
P
(A)- T iRt T RV
(B) YomgH WA
(C) famexor '
D) s
57 WM ... DTEE
(A) g - (B) 3l TR
{C) % s (D) e TRie
| 53. iﬁ?’t-mﬁﬂmﬁﬁaﬁﬂ%ﬁhﬁqm
e s 87
(A) A ®B)B"
: ©cC ®)D
54, ey T Ml B Y @ G I ©
W R T B @
(A) aw (B) ¥R

(C) T (D) Swaw ¥

- . Downloaded from www.cclchapter.com \




its length is doubled?

_ \jAa-Gets doubled
(B) Becomes half
(C) Becomes nj]
(D) None of the above
56. The resistance which can be changed 45
desired is called: - .
(A) Wire joints
(B) Fixed resistance © .
N0 Variable resistance
(D) A switch
57. ‘Rheostat’ is the other name of:
(A) Fixed resistance
3 -‘*Variablc-msistance
“(C) Insulator
(D) Conductor

58. Which one js not the form of. Biocides?
(A) Salt

(B) Todine _

(C) Sugar - \{PBleach
59. Whatis Rodenticide?.

(Aa)a medicine to kj)| worms

(B).A medicine to Kill animals-

((8)] lubricant
' A pesticide .
60. What js NBR? :
(A) Norma] Acw!onitrile—butadiene rubber -
(B) Natura] A

clylonitrilc—bu_tadicne rubber
ON crylonitrile-butane :

rubber -
: Acryloui_trile_—_butadiene rubber
61. Which printer js 5 type of Impact Printer?
(A) Page Printer
Laser Printer
(C) Ink Jet Printe; _
t Matrix Printer

~A) Application software
(B) System software

© Operating § ystem Software

(D) Plaﬂ‘orm--SoﬂWare
63. Retaij] workers generally use |

transactiong.

----------

terminals to Process sajes
(A) Sales Processip
(B) Transactiop Point

(C) Aytomatic Teller
. \(}}‘Pfim of Sale

| .
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64 Inheritance is a property of the object which | g4, saRew, mﬁ ?‘5 L i-fg :hmuﬁﬁ
- passes its chamomistics)to fiit_.jz essembnnasanas mmﬁimltmll - Tr—
sub classes (B) off spring . TR
“(©) Superclasses (D) Parents (A) = - (B) 3w Ry
: o © gWWRY (D) R it
65 Which of the following is a'serial port which * | g, e el mmmgé R
Provides direct connection to the network? : i
(A) Firewire ; C (A) wRARR B) TRy
(C) USB (D) Internal Modem (C) quadr (D) s=wer wiey
66. Which one of the following savesnop- 66. P14 @ o LU BT fow w
contiguous clusterson a hard disk? IR Foieey 7Y ¥ R &7
(A) Clustered file (A) worRes gz ‘
(B) Defragmented file - (B) Spite prze
(C) Sectored File C) 7z wma
') Fragmented File _ . (D) woits Ba
67. A program that converts high. leve] language | 67, & Hrim oY ey WR P 41 B el
into machine language? _ T F gEerar &7
(A) Linker (B) Assembler | (A) fRiax (B) 3ryaer
'\ ¥ Compiler (D) All of the above | (€) Frzer (D) SR, wft
| 68. How many operating systems can work on oge | g8, VP W W A ey s Rysen k2
' computer at the same time? PUN W B B Wy 27
~ ) oniy one . (B) two (A) @9 vo (B) =Y
(C) three D) four (@ @ D) =r-
69. Images can be sent over telephone lines using | 69, ... @y SUURT w3 Thw e w)
! LA T T BN o W R - 2
; (A) Big Bandwidth.@-pax (&) =51 Fofewr.  (B) oy
(C) Scanner (D) Cable - (C) == (D) 37
70. Which of the following is a scientific - - 70; FrafaReg ¥ 9 % Ysnfe Tey
Computer language? ‘ BRI -
(A)Basic {B) COBOL @ R B) g
~ (CyFortran (D) Pascal (C) BrRgm | (D) ey |
71. Single Super.phosphate fertilizer contains 71. R gur whade SRE FRer .
§ % phosphorous and 12% sulphur (A) 16% wlewive air 12% wope -
(B) 20 % Phosphorous and 13 sulphur (B) 20% BRBRY aite 1éy el
(C) 16 % phosphoroiss and 18% sulphur (C) 16% Bhee aly. - or
(D) 18 % Phosphorous and 18% sulphur (D) m; RERE o 'wi HFIR
| : 70 tﬁl'\‘qglq;{-l 18% Hehy
1 72. Painted bug is an important insect of 72. g ay e « W o
/ following crop - e & " T
(A) ~ (B) Garden Pea (A) = (B) Sur #ey
(G “;E’“'d 0? M“"g?’aﬂ C)wwsr (D)
- Karnal -bunt disease js ound in Ollowing cro 173, TR FE onr :
(A) Gram Wheat T PR S
(C) Mustard (D) Sugarcane (A) == . ®) %
4. Mahi Sugandha is a variety of following CTop 174, Y iy PR e <
" (A) Whear addy L WAy T AR R g
(C) Fennel (D) Coriander ©) e - (D) ufyy
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following crop
(A) Black pram
'(C)Cotton - ,

Seed rate in Bajra (Pear] millet) crop

4Skgha,

(B) 6-7 ke/ha. -

(C) 12 kg/ha,

(D) 89kg/ha ey
77. Mean annual carbog dioxide concentration in

. the atmosphere Currently,ig...,,.. .. '

6.

(A) 0.02 per cent \«B)0.0 per:
(C) 0.04 per cent ,,(D)&ﬂiapcacsm |
78. . The highest poroentage Soitént of itrogen

" was firstused
Successfully in 1950 in Pasture renovation
1n............. ;
. (A) Germany (B) United Kingdom
- NOUSA - (D) Japan
80. The irrigation system which haye highest - -
efficiencies :

-(*@J-Spﬁnldcr system (B):th‘ck'basig
(C)Flood n _P¥rDrip system
81. 400kg The daily requirement of dry matter
' foraheavycowis. - . L ,
10-2kg = B)15.17 kg
- (©)20-22.kg o NLS 5 kg

| (A) at the age of 6 months |
,\/(Bj atthe age of 8 months to | year
(C) at the'age of 1 to 2 years)
(D) after 2 years of age ;
83.  Which one of the following is the best -
buffalo for milk production in the northery
part of India?
(A) Bhadavari Buffalo
(B Murrah Buffalo
(C) Jafrabadi buffalo
(D) Mehsana buffalo

82. A ring should be Wworm in the nose of the bull- |

£ 75. GNG 2171 (Meera)is,a..popularnvariety of | 75

76.

(B) 8 7 % 4

1-83.
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- (D) 8~ fFam, 3y
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TORT B By W
(A&)-4-5 f5am, /¢y
(©) 1-2 fbam, /dqege

T 3 arerravor MG ffF B
SRHIRTES Wigar 8, .
(A)0.02 Wferer (B) 0.03 nfyerg
: (€).0.04 Hftyerg (2),0.05 wftverer
78. IR W ygy R ST At Ao
D ¥ e 2 ST Tt
Wt e gy Wl &
(A) gRer -
(B) <y
C) R rgpe
- DY SIS s .
. R R Ry T YRS IR 1950 ¥ i
T TR ¥ e, - |
ST R Ty 4, - |
@ (B) T e ]
80. S e vl R Sty & |
(A) REimer Ry (B) ¥ REm |
L T
| 81 400 Rour Ry 1y 3 oy ww |
iR s T
(A)10-12 fssy . (B)15-17 famy
(€)20-22 fit D)2.5 -5 fareir -

(4) 6 15 8 o .
WH G W

©13 2 3 9 g o
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buffalo?

(A) 984 * (B) 100°F
. M- (D) 102°F

M A
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&

o B : ’ sy, -
+84. . The main féature of identification of | R Gi LE Ep—p—
[ e
s 12 .and n W race i A c
(B)'sﬁl and—!i?ow face (B) Brer sy Sfawr dwer
(C) long and broad face (C) @ iR Zﬁg e
(D) short and wide face (D) Brer 3R =y 2w
85. 'Tharparkar' cow is of which species- §5. ‘RN W Brsronfy-
(A)Milch Breed .- (A) g7 e
(B) Working Breed | Cromedbage. .. -
' ual Purpose Breed =~ (O 5Tt &= o
(D) Noge Of these D) % & B 75 .l
86. The best method of milking is- 86. T &V &I wakw fafy %"_ -
(A) Copying Method =~ = - A AR B) gRep
n_ B Fisting Method ‘O R (D) @ o
(C) Stripping Method 2
(D) None Of these . : o | }
87 Towhich family do cow and buffalo belong? | g7, T SR 3w 9RaN @ e 8 |
AYBovidae - *.(B) Suidae (A) A& (B) ¥t -
(C) Equidae " (D)Camelidae (C) 575 (D) ferer , f
88. Match List - and List — If and select the 88. -l vd g1l 7t AR SR e /
- correct answer from the code given — Ry 77 e & wa SR @7 9T
List -1 List - 11 i N
ite Revolution 1. Pertilizer Production - -l
(B) ColdBrown . 2.Fish Productio (A) ¥4 sty 1. IRF S
Revolution ' : (B) 7% wify 2. I SqeH
(C) Blue Revoiution 3. Cercal Production (C) =iihr wifey 3. I SeTE
(D) Green Revolution 4. Milk Production D) s wmify =~ 4 Y I
Code-ABCD _ - ABCD
WUAY2123 (B)1234 4123 (B)1234
(©)2431] D)1342 (C)2431. . D1342
89. .Ifi one of the following animals, undivideq 89, TR A ¥ U F afiyg Rordic: i
~ hooves are found- S 8- .
. horse (B) in the cow A) 9 (B) Ty ¥
(C) in buffalo (D) in sheep (C)tw % D) =¥
| 90. Whatistheaveragetemperatumtwfooqud 90.'WW%W@%HWWE%T§?- |

(A) 98.4° (B) 100 %y
(©) 101.5% (D) 102, -

AN v
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| Direction (91 -92) In these questions, some

sentences are given with blanks to be filled with an
appropriate word (s). Four alternatives are
suggested for,each question. Choose the correct
alternative ot of the four. -
91. All civilized nations now believe in
treatment of poisoners.
(A)human | _(BYhumane
(C) humanitarian (D) humiliating
92. His fatherintroduced himatan
age to the game of cricket. -
inquisitive ~ -(B) insensible
(C) impressionable (D) impressive

| Direction (93-94) In each of the following

questions, find the corrcctI_:v spelt word.

93. .
(A) Agressive (B) Ag_t_:;éssiye
(C)Aggressive (D) Aggresive

: o
94. (A) Sinchronize (B) Syycronise

,é%nchronize . (D) Synchromise

| Direction (95-96) : In these questions, a sentence

has been given in Active/Passive Voice. Out of the
four suggested alternatives, select the one which,
best expresses the sams sentence Passive/Active
Voice. ) A
95. Our task had been completed before sunset.
" (A) We completed our task before sunset.
(B) We have completed our task before

~sunset.
(C) Wg complete our task before sunset.
\9)’62 had completed our task before
sunset. '

96. We have already done the exercise.

e exercise has already been done by us

(C) The exercise had been already done by us
(D) The exercise is already done by us
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(A) Already, the exercise has been done by us

Dircction (97-98) Out of four altérmagves,
choose the one which is similar to theneani
of the given word. N

97. MASSIVE
(A) Lump sum (B) Strong
(C) Little - \yﬂugc
98. DEFER S
(A) Indifferent (B) Defy
(©) Differ _ \(Pyestponc

99. Fill in the blank with the right option.

Rahul is happy as his uncle is........ccce.ee

tomorrow. o

(A) Arjved “ (B) Arrives
'\Qi%‘lfviug . (D) Arrive

100. Fill the blanks with the right pair of
words:
My.......... t0 you is that you should.......
yourself 1o the situation as quickly as
possible.
(A) Advise, adapt
N@Avicc, adapt

(B) A;'l'\}ise, adog
(D) Advice, ado;




